
8

7 9

M-M M-C/M-D/M-E

M-F/M-G/M-H

H

M-A

M-H
M-I

M-A

M-H

M-I

-15° ~ 15°
M-K

 +8°     - 8°   

AUSGELEGT 
FÜR 

max. 10kg

Rated
max. 10kg

Item No.: 2632385 (SP-PWM-100) Black
Item No.: 2633265 (SP-PWM-101) White
 

Installation Instructions

Projector Wall Mount

Best.-Nr.: 2632385 (SP-PWM-100) Schwarz
Best.-Nr.: 2633265 (SP-PWM-101) Weiß

Installationsanweisungen

 Projektor-Wandhalterung



3

6
ø 10mm
(ø 3/8") 

60mm
(2.4 )"

4

5

1

2

A(x1)

B(x1) C(x1) D(x1)

H(x1) (x1)E F (x1) G(x1)

M5x10 
M-A

(x10) M6x10 (x4)
M-B

D3
M-F(x4)

D5
M-H(x14)

M5x8 (x4)
M-C

M4x8 (x4)
M-D

4mm
M-K(x1)

5mm
M-L(x1)

M3x8 (x4)
M-E

D4
M-G(x4)

D6
M-J(x4)

M-M(x2)

D5
M-I(x2)

21

W-A(x4) W-B(x4) W-C(x4)

M-L

A

H

E

M-B
M-J

M-L

M-A
M-H

F

G

M-K

M-A

M-H

M-K

W-A
W-C

W-B

B


